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v) English Language and Comprehension
it v Ay

Change the voice of the given sentence :

Choose the correct allernative :

81. 'l was being taken to prison by my | 85. 1don't think | be able to go.
captors'
(A) My caplors took me to prison () Shall
(B) My captors are taking me to (B) Should
prison (C) Can
(C) My captors have laken me lo (D) None of the above
prison
.(D) My captors were laking me to 86. He not pay unless he is
prison compelled.
82. 'l know her (A) shall
(A) She was known to me (B) will
-(B) She is known 1o me {C) dare
(C) Sheis known by me (D) oughtnot
(D) None of Ihe above
Change the following sentence to posilive i {oryou 7 | carry tha box nto the house
clegree : (A Would
83. 'lron is the most uselul of all metals’ (B) Shall
.(A) Iron is more useful than any other
metal (C) Will
(B) lron is as useful as ather melals (D) Could
(C) Iron is nol useless compared to
other metals Select the wrongly spelt word :
(D) No other metal is as useful as iron 88. .(A) Momantous
84. ‘Joshi writes more interestingly than (B) Fragrant
mosl hislorians’ (C) Facilitate
(A) Few historians write as interestingly .
as Joshi (D) Industrious
(B) ::Fiﬁrans writesaslnlarasunmy 89. . (A) Aggrevale
(C) Joshiwrites as inlerasting as other (B) Alleviate
historians (C) Leisurely
(D) None of the above (D) Spurious
-18-
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Selact the comg)lex semtence from the foliowing - | Select the synonym ol the given word -
80 (A) Ishallcome when | amin bettar 94 Tyrant
has th (A} rash (B} autocra
(B} With a great effort he l'ted the (C) meek (D) sober
Lirax | a5
o Incite
(C) Toavod pinishment hae « a3
) P4 2 ran away : (A) provoke (B) laugh
(D) He was reected ow g 1o 1 heaith (C) open (D) bliss

91, (A) Henetherretamed e goods nor Use the correct word 1o il in the blanks -
Dot the ||

B) H 95 Hesarather persan.
rned | o: the $pe :
) Reldnedbardt thed tr (A) Elusive (B) Nlusive
- 5§ 7
Succen {C) Elusove (D) Negible
(C) Hawnglin Mot g g har pt
AWy s b enae e G7 1 would oblige you in this malter
ey TS 1 TS . but there are insuperable dithcullies in
(D) Heasotud; = gt ot 0 thanay ! daing so
besorme « o (A) Foign (B) Famn
iC) Famt (y Fane
Selec! the cortect v b 1 rpid b fos thie
lollowing scnlence Select the meamng el the underined idiom :

G When plague broke oul in Mumbai,

Q2 Ho sowd 1o hen 16 ref o o Acrmesd O mw) | YEnim AN SRviIce

e

(A) Ho askighiwg sEemes” "Gl (A(CExcalient work

|E.‘! Mo askiovd il Fus e g Ahmen . 1E,I ':rhE.'ll'I"f

{C} Me mguire 3 F his name eas not (G Donated loorl
Ahmed : (D) None of the above

(D) He inquired I his name s Not ;- qq 4 o chact that fellow has senl us on a
Ahmed | wild-gnose chase.

{A) defeated
. (B) aloclish search

possible’ (C) passed the crisis
(A) He said 1hat he should go as soon (D) under his control

as il 1s possible |
(B) He said he musl go as soon as il 100. There are black sheep in every
was possible c:umrr'rur'_nry. .
(C) He said that he would go as soon (A) loolish Ee:;n
as it was possible (B) unsoun

. -(C) bad characlers
(D) Hesaw m;: o couicgoat soom s (D) physically challenged
was possibie

# -17-
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SECTION -B
am -9
Post Specific Subject-Related Questions
gz sutafes faga - gatft v '
Insert the correct tense of verb in the following | 104. The narrator mentioned a school for
santances :

MKG-VIIVTECHTGTEM/1T/02

(A) he minors

101. Copermicus proved thattheearth _____ . (B) negro race

round the sun.
(A) moved (C) 1he workers
-{B) moves (D) none of the above
(G),. has maves 105. Whal does ne expression "Wild-goose
(D) has been moving chase” mean 7

(A) diflicull task
-(B)} strange and adventurous
(C) useless and feolish action
(D) dangerous aclion

102. He ran as quickly as he
- (A) could (B} can
(C) may (D) might

103, | didn"t know it until you
106. Salect Ihe wrong statement :

(A) Speak
{A) mHlis brother halped him in his new
{B] Have Epﬂkﬂﬂ vanlure
-(C) Spoke (B) He was working in a coal mine

(D) None of the abave + (C) His mother gave whole-hearted

Direction (Q. No. 104 to 108) : Read the consenl

passage below and answer lhe questions : (D) The school mention in the passage

One day while at work in the Coal Mine, | was situated in Virginia
happened lo overhear two miners talking about
a great school for coloured people somewhere 107.  Select the synonym of ‘decided' from

in Virginia. 1 resolved at once to go to that the passage.

school, although | had no idea where it was (A) Consent

or how many miles away or how | was going (B} Resolved

to reach it. In the [all of 1872, | delermined to

make an efforl to get there. My mother was [g] Overhoard
troubled with a grave fear that | was starting oy (D) None of the above

on a ‘wild-goose chase'. Alany rate, | gotonly | 4 08

a half-hearted consent from her that | might Selecl the antonym of ‘dissent’ from the

starl. My brother helped me all that he could passage.
but, of course thal was not a greal deal. (A} happened (B) atany rate
(Booker T. Washington) (C) deal - (D) consent

# -18-
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109. ‘Lady of the Lake' is written by
(A) Robert Southey

(B) Walter Scott
(C) Lord Byron
. (D) P.B. Shellay

110. Which of the following is a character
trom 'Old Mortality’ ?

(A} Lady Margaret-Bellenden
(B) Grace Amnstrong

(C) Isabel Vere

(D) Elshie

111. ‘Childe Haroid's Pilgrimags is one afthe

best known works of
(A) Lord Byron
- (B) John Keats
(C) Charles Lamb
(D) Thomas De Quincey

112, "Make me thy lyre, even as the forest is :
What if my leaves are falling like its own I"

The above line ara taken from
(A) The Cloud
*» (B) Toa Skylard
(C) To Night
(D) Ode to the West wind

18-
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'Prometheus Unbound'; a lyrical drama
Is the best work of

(A) Walter Scott (B) Dryden

(C) P.B. Shelley (D} Lord Byron

Frankenstein is a novel written by
(A) P.B. Shelley

(B) Mary Shelley

(C) Lord Byron

(D) Robert Browning

is the boss of a criminal
gang of young boys and girls in 'Oliver
Twist'.

(A) Mr.Bunble (B) Fagin
(C) Mr. Gamfield (D) Mr. Fang

The novel, follows
a Classical tripartite structure entitled
‘Sowing', 'Reaping' and '‘Garnering’.

(A) Hard Times
(B) Great Expectations
(C) Bleak House

(D) A Christmas Carol

is a satire on various
churches by Jonathan Swift.

(A) The Battle of the books

.. (B) TaleofaTub

(C) Joumnal to Stella
(D) None of the above
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118. “When | consider how my lightis spent”,
Is one of lhe best known sonnels of

(A) Shakespeare
-{B) John Milton

(C) Oliver Goldsmith
(D) Thomas Gray

119. is a series of Lectures 1o

Little Housewives.

(A) Crown of Wild Olive
(B) Traffic and War

(C) Sesame and Lilies
(D) Ethics of the Dust

120. 'Seven Lamps of Architeclure’ is one of

the famous works by
(AY Tennyson

(B) Milton

(C) John Ruskin
(D} Mathew Armnold

121. ‘The Doctor's Dilemma’ is a famous

work by

(A) George Bernard Shaw
(B) A.E. Housman

(C) Alfred Noyes

(D) John Masefield

122. “Neither a borrower nor a lender be :

For loan oftan |l0s8s bmh_ itsalf and
friends" who speaks thesa lines ?

(A) Polonius (B) Horatio
(C) Laertes (D) Prosparo

Wha is called “The Bard of Aven' ?
(A) Ben Jonson
.(B) Shakespeare
(C) Spenser
(D) Sir Philip Sidney

123

124. "Viola is shipwrecked on the ocoast of
llyria and she comes ashore with the
help of a captain”. This is the opening
part of which play by Shakespeare ?

- {A) AsYoulike It (B)- Tempest
(C) Richard ll (D) Twelfth Night

125. Who is the daughter of Shylock in
Merchant of Venice ?
(A) Porlia (B) Nerissa
(C) Balthezar (D) Jessica

126. In which of Shakespeare's plays the
following lines appear ?

"Blow, blow, thou winter wind
Thou art not so unkind
As man's in gratitude" .. . ?
{A) All's Well Thal Ends Well
(B)“As You Like It
(C) Antony and Clecpatra
. (D) King Lear
127. Name the theatre in which Shakespeare
had shares.
(A) The Black friars
*(B) The Thealrs
(C) The Universe
(D) The Rose
128. Which of the following books mark the
beginning of Shakespeare's success ?
- (A) Love's Labour Lost
(B) The Marchant of Venice
(C) Venus and Adonis

(D) Sonnets
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Direction (Q. No. 129 to 133) : Read the
passage below and answer the questions

Linguislics is the scientific study of language.
It endeavours to answer the queslion —whatis
language and how is it represented in the mind.
Linguists focus on describing and explaining
language and are nol concerned with the
prescriplive rules of the language. Linguists
are not required to know many languages and
linguists are not interpreters. The underlying
goal of the linguist is to ry to discover the
universals concerning language. Thal is, what
are the common elements of all languages.
The linguist then Iries to place these elements
in a thecrelical ramework that will describe all
languages and also predict what cannot occur
in a language. Linguislics is a social sciance
thal common ground with olher social sciences
such as psychology, anthropology, sociology
and archasology. It also may infiluence other
disciplines such as english, communication
sludies and computer science. Linglistics
for the most part though can be considered a

cagnitive science.

129. The goal of the linguist is
(A) to find out languages
+ (B) lo dascribe language
(C) to discover universals conceming
language

(D) none of the above

130. Linguists are not concem
(A) With the description of language
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131. Which of the choices given below is

closestin meaning to the word ‘scisntific’
in the passage ?
(A) Objective

+ (C) Syslematic

(B) Distinct
(D) Precise

132. Which of lhe choices given below
is closest in meaning to the word

‘prescriptive’ in the passage 7
(A) Relevant
¢ (B) Pertaining to giving direclives
(C) Careful
(D) Acquired by

133. Select the synonym of the word ‘foretell’

from the passage.
(A) Deduce
* (C) Predict

(B) Suspect
(D) Assess

Use correct preposition ta fill in the blanks.

134." He'never said or did anything derogatory
his high position.
. (A) to (B) for
(C) with (D) by
135. He is quite infatuated her.
(A) for (B) to
(C) with (D) through

Usa the correct option 1o fill in the blanks :

(B) With explaining language . (gontil -
of th -
' (C) ﬁ?u?;aprmﬁpliw rules 8 <y Wont - e
Can't
(D) None of the above (C) May not (D)
# 21-
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137. you prosper in all that you do | | 144. Tom as well ag Brown qualified for tha
(A) Can *(B) May finals.
(C) Wil (D) Must (A) adverd
(B) adjective
138. He apologise for his (C) pronoun
mistake. .(D) conjunctions
(A) Will (B) Might

wation marks and select the
-(C) Must (D) Need Qbserve the punc
corract sentence.

Fill in the blanks with suitable verb : ‘
145. (A) “perhaps” cried he, “there may be

139. Neither of the combatants such monslers as you describe”
E:|El lo win a decisive victory. (B) “Perhaps”, cried he, “there may be
(A) are (B) were such monslers as you describe "
(C) have -(D) was .
{C) Perhaps, cried he “there may be
140. Heand| al Oxford together. such monsiers as you describe”.
(A) was «(B) were (D) Perhaps cried he, “there may be
(C) is (D) am such monslers as you describe".

141. The ship was wrecked and every man, -
e | A et

(A) was (B) is (B) All that |
- at | am; all that | hope to be,
- (C) ware (D) ars | owe to my angel mother !
Slsct option for the underined words : (C) Allthat | am, all that | hope to be;
correct | owe to my angel mother.
142. Such questions should not be asked. (D) All that am — all that | hope to be;

(A) Demonstrative adjective

| owe 1o
(B) Adjective of number my angel. mother,

(C) Adjective of quantity 147. (A) TheHumanmindisneverstationary:
(D) Interrogative adjective it advances or retrogrades,

143. He hurt himsell. (B) TheHumanmindisneverstationary,
(B) Distributive pronoun (C) The Human mind is never stationary
(C) Reflexive pronoun it agvances, or retrogrades.
(D) Emphatic pronoun (D) The Human mind is never stationary

il advances or retrogrades !
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complete the following senlences by supplying

appropriate connecling words.
148. Small service is lrue service
il lasls.,
(A) and “(B) il
(C) than (D) for
149. Forgive us our debls we
lorgive our deblors.
(A) for (B) which
(C) Ithan * (D) as

The poetical sketchss, is a collection of
earliest poelry.

(A) William Wordsworth
(B) Willlam Blake
(C) Robert Burns
(D) Robert Frost

150.

Which of the following is a famous work
by Daniel Defoe ?

(A) Robinson Crusoe

(B) The New Atlants

(C) The Pilgrim's Progress
(D) The Unfortunate Traveller

151.

= Just for a handful of silver he lefi us,
Jusl for a riband to stick in his coal”.
These lines are from The lost Leader by
(A) Waller Scott

(B) Robert Southey

(C) Robert Browning

152.

(D) P.B. Shelley
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153, Which of the following is a famous work
by Samuel Taylor Coleridge ?

(A) The Prelude
(B) Lyrical Ballads

- (C) The Rime of the Ancienl Mariner
(D) Thalaba

154. Which of the following works has the'
metaphor of an albatross ?

(A) Kubla Khan

(B) Christabel

(C) Day Dream

(D) The Rime of the Ancient Mariner

155. ‘Athing of beauty is a joy forever’. This
is a sliking line from the famous book

(A) Endymian

(B) Ode on a Grecian Um
(C) On Autumn

(D) Ode to a Nightingale

156. ‘Tales from Shakespeare', is written by
(A) Shakespeare
(B) Wordsworth
(C) Charles Lamb
(D) P.B. Shelley
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157.

158.

159.

160,

"Man is a gaming animal, He must

always be Irying lo gel the betler in

something or other”. This is a famous

quote from

(A) To kill a mocking bird

(B} Essays of Elia

(C) The old Benchers of the inner
temple

(D) Blank Verse

Elinor Dashwood is the main character in
(A) Pride and Prejudice

(B) Sense and Sensibility

(C) Emma

(D) Mansfield

Which of the following is not the wark
of Charles Lamb 7

(A) Dream Children

(B) Old China

(C) Dissertation on Roast Pig
(D) Marmion

Which of the following poems opens
with a description of a village named
‘Aubum’ ?

(A) Memory

(B) The village schoolmastar
(C) The deserted village

(D) A sonnel

|[IIIIIIJII1IIIlllilﬂlillllillllllllllllllllllllliﬂ‘ﬂlllllllllﬂllllﬂlllﬂ

161.
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162.

163.

164.

165.

Dr. Primrose, @ simple En_glish
Clergyman is the character of which of

the following ?

(A) The Vicar of Wakefield
(B) Ataleofa tub

(C) Sophia

(D) The romance of the foresl

How many sonnets has Shakespeare
written in tote ?

(A) 150
(C) 120

. (B) 154
(D) 130

In the novel 'Emma’ by Jane Austine,
lhe protagonist Emma woodhouse
realises at the end that she loves

(A) Mr. Frank Churchill
(B) Mr. Martin
{C)uPhilip Elton

(D) _Mr. Knightley

Dorothea Brooke is a 19 year old orphan

in the novel by George
Eliot.

(A) Romola

(B) Adam Bede
(C) Middle March
(D) Daniel Derenda

Forwhat is the phrase ‘The mousetrap’
used by Shakespeare 7

(A) Hamlet's Iragic flaw
(B) The Ghost of Hamlet's father

1 (C) The play within the play in Hamlet
(D) Hamlet's conscience
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166. “Frailty thy name is woman” who says
this 7

» {A) Hamlet
(B) Othallo
(C) King Lear
(D) Macbeth

167. In Shakespeare's Tempest, who is
Sebastian's brother 2

(A) Antonio (B) Alonso
(C) Ferdinand (D) Gonzalo

168. Which of the following is a Pasloral
comedy by William Shakespeare ?
(A} Hamlet
«(B) Tempest
(C) As YouLike lf
(D) King Lear

169. Who is King Lear's second daughier's
husband ?

(A) Duke of Cornwall
(B) Earl of Kent

(C) Duke of Burgundy
+ (D} Duke of Albany

Direction (Q. No. 170 to 174) : Read the
passage below and answer the questions :

Hari had stayed into Nehru household as a
dishevalled urchin of five or six years old, His
lather, who was a cook at the house of an
English official, was an irresponsible, hard
drinking rascal who beal his wife mercilessly.,

poor woman finally sought refuge in the
Premises of Swaraj Bhavan and so Hari came
10 be noticed by my grandfather. Nanuji; always
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ready to help those in distress, found him a
bright youngster and decidad 1o employ the
little untouchable boy. So Hari grew up in the
lamily's service and was sent to School by
Nanuji. Un accuslomed to a life of rules and
regulations, he cheerfully ignored ils demands,
He lied outrageously, slole whenever he had
the chance and coolly be trayed the trust that
had been placed in him. (C.N. Sahgal)

170. The poor woman finally sought refuge
in the premises of Swaraj Bhavan.
The poor woman hare refers to

(A) Hari's grandmother
(B) Narrator's grandmother
*(C) Hari's molher

(D) Hari's sister

171, | Wha s the untouchable boy mentioned

in the passage 7
v (A) Hari
{B) A cook
(C) Narrator's neighbour
(D) Narrator

172. Why did Hari ignored the rules of the
housa ?

(A) He was careless
(B) He was a criminal

+ (C) He was nol used 1o a life of
discipline
(D) He was happy to break them

# -25-
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173. Find the synonym of ‘untidy’ from the
passage.
(A) urchi

» (C) betrayed

(B) distress
(D) dishevelled

174, Find1lhe antonym of ‘Stand by’ from the
passage.

- (A) distress
(B) ignored
(C) outrageously
(D) betrayed

Direction (Q. No. 175 1o 179) : Read the
passage below and answer the questions :

What makes the Palk Siraits a formidable
challenge 1o swimmars is the presence of
deadly marine hazards, warm lropical seas
team with all kinds of marine life. The natural
dwaellers of these seas include sharks a lerror
to all swimmars. These could be eithertiger
sharks or the fierce hammer headed ones.
Both are man-eatars. Then there are those
panthers of the deep, the barracuda. They
are powerful and mean and aftack anything
that moves. Wilh a shark repellent one can
hope 1o keep single shark at bay; wilh a rifle
or with divers around; barracuda can be
discouraged. But there is nothing one can do
about the reptiles of the Indian ocean, Owing
perhaps to the presence of the chain of rocks
and sand dunes in this area known as Adam'’s
Bridge, the snakes infest the seas. They are

0.0 0 O O R

175. Select an expression from the passage
which means ‘some thing that can't be
overcome'.

(A) Comprehensive
(B) Repellent

' (C) Insurmountable
(D) Hazards

176. Who is 1he real terror for a swimmer ?
» (A) Shark
(B) Barracuda
(C) Snakes
(D) Rocks

177. The author mentioned about
types of sharks.

(A) three
v (B) two
(C) one
(D) .none of the above

178. According to the author, panthers of the
sea are :

(A) Snakes
(B) Sharks
(C) Sea-horse
v (D) Barracuda

179. Select the antonym of ‘undemanding’

: . from the passage.
not anly poisonous bul deadly poisonous, Sea
snakes will not bite @ man unless he touches - (A) formicable
ar hurts them. Then thare wara the practical (B) fierce
problems which often seemed to me almost C) powerlul
insurmountable. Travel between Indian and ©p
Ceylon is rigidly controlled. {(MIhir Sen)| (D) discourage
# ~28-
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change the following sentence into simple
present :

180. "She has done the work"
(A) She is doing the work
(B) She has been doing the work
» (C) She does the work
(D) She was doing the work

It had been raining. (Select the tense
used in \he senlence)

181.

(A) Pasl lense
(B) Present perlecl
(C) Present perfect continuous

. (D) Past perfect conlinuous

Change the voice of the following sentence :

182. “Our team has been defealed”
(A) They defeated our team
v (B) They had defeated our team
(C) They have defeated our team
(D) They were defeated our team

183. ‘Listen to me’
(A) You have to listen to me
(B) You must listen lo me
.(C) You are supposed fo listen to me
(D) You are requested to listen to me

184. "Who gave you this pen 7
(A) By whom were you given this pen
(B) You were given this pen by whom
. (C) By whom you were given this pen

(D) By whom you are given this pen
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Select the comect option for the undedined part :

185. There was a ime when | could |ift 250 Ibs.
« (A} Noun clause
(B) Adjective clause
(C) Adverb clause
(D) None of the above

Ramesh asked me where | lived.
(A) Noun clause
. (B) Adjective clause
(C) Adverb clause
(D) None of the above

Desai is a wealthy man.
(A) Noun clause

(B) Adjeclive clause
(C) Adverb clause

(D) None of the above

186.

187.

Use correct options to fill in the blanks :

188/ 'No'sooner had he returned he
was off again.
(A) than «(B) when
(C) and (D) but
189. Helost not only his ticket
his luggage.
(A) but
(B) and
{C) but also
(D) then
180, Scarcely had he gons, a
policeman knocked at the door.
(A) than (B) when ,
(C) but (D) still
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: 191.

195.

g — T ————— —

192.

183.

194,
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